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]l 8,000 30 2 A~ x43] 1,920
J| 960
== 288
Al 672
14 JIEIB A2 18,680 0 18,680
OZINEK S|
36,000& *15%*123] 6,480
J| 3,240
= 972
Al 2,268
Om=sr 22012 AL B
11,000 x20H *53| *20H 2~ 2,200
J| 1,100
c 330
Al 770
Ofa2 #eIX| AaE 2L
10,0002 x250H x4 & 10,000
J| 5,000
< 1,500
Al 3,500
307 21Z2to| ™ 152,400 14,100 138,300
J| 76,200
< 22,860
Al 53,340
01 2= & 3= 152,400 14,100 138,300
OOCIELl #A RAAX E&XH| S
50,0002 *80H 4,000
J| 2,000
c 600
Al 1,400
OAlLIg A s (22| 292 ADE
s +¢ 33,000& 1004 3,300
J| 1,650
< 495
Al 1,155
OYUZHA BEAIEH|
7,500,000 x12& 90,000
J| 45,000
= 13,500
Al 31,500
OYGAEHA AIY BIEZHA A2 2 1,000
J| 500
= 150
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Al 350
O7Z2dHH % SATE AlY 225 2
= 12,600
Jl 6,300
= 1,890
Al 4,410
OB PYBAL ADE o 1,500
2l 750
= 225
Al 525
Ogate H2H & SatHl | 40,000
7l 20,000
= 6,000
Al 14,000
NAASSHSHTZMEIA HMS(MR) 133,312 42,720 90,592
Jl 66,656
= 19,997
Al 46,659
201 er=2 3| 63,120 18,200 44,920
Il 31,560
= 9,468
Al 22,092
01 At2teltl 55,800 18,200 37,600
OsSdAEA S M FH| 8,000
) 4,000
& 1,200
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O3c¢&d Z8AY 22| 15,000
Il 7,500
= 2,250
Al 5,250
O=d2dH 88 &2= 74
2,0002 x25+2,000H 8,000
Jl 4,000
S 1,200
Al 2,800
Os¢ Uslsg ¥ 22 7Y
1,000 352,000 6,000
Jl 3,000
= 900
Al 2,100
OsSgAIEE It Lt
900,000& * 128 10,800
Il 5,400
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SN ALBTI(AER)
FH: NS AIE2SE
el ZO0PDle 2Z2AMBIA MBS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 612
301 LEtE NS 1,180 0 1,150
[ 575
= 172
Al 403
11 #AIAMHIXIZ S 1,180 0 1,180
OFO0ts AZAE Y Chk +1 1,150
[ 575
= 172
Al 403
307 gl2to| & 22,778 0 22,778
[ 11,389
= 3,417
Al 7,972
0122 & 3=H| 22,778 0 22,778
OgZAadac] 2oz & z4E2F 7Y 22,778
= 11,389
< 3,417
Al 7,972
Al - 10T D18 24222 AF (M) 69,109 0 69,109
= 34,555
< 10,366
Al 24,188
101 @124H| 21,402 0 21,402
= 10,701
== 3.210
Al 7,491
M ORNZZ2NSE S 21,402 0 21,402
OAl - loTD18t 01241 H2r2te| 2tS A el2id] 21,402
-Jl== 84,0002 x222+8I E*1d 14,784
= 7,392
S 2,218
Al 5,174
- =4l 5,000 x22 8 &1 880
fas 440
== 132
Al 308
-RaRdsE 84,0002 *x362 14 2,940
= 1,470
== 441
Al 1,029
-gimrerd 84,0002 x7 2«1 588
s 2%
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SN ASBTHME)
S AR ZAIEZY
il ROH= SI2MHIA M2 (ol 29
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 88
Al 206
—40HE2E 19,192,000 *11%* 1 2,112
s 1,056
= 317
Al 739
—I/=Hl 98,0002 *1H*1H*13] 8
s 49
= 14
Al 35
201 Ler2| 35,320 35,320
s 17,660
= 5,298
Al 12,362
01 AtR2elt] 34,000 34,000
OAl - loT21BF 24 A2 22 MY 228 2
Z I (2, ME3A S) 17,000
= 8,500
= 2,550
Al 5,950
OAl - 1oTI|BF 24 A2 22N SE=SE
- 5,000
= 2,500
= 750
Al 1,750
OAl - 1oTI|BF 24 AL 22|ALY KSR
] 1,000,000 *1CH* 1201 = 12,000
s 6,000
= 1,800
Al 4,200
02 3324l 1,320 1,320
OME2EE X FFHI
30,0003 *1CH* 1200 & 360
s 180
= 5
Al 126
OAl - loT218F AT 2 IHE S4ld]
20,0002 #4CH* 1200 & 960
s 480
& 144
Al 336
307 QI2Hol ™ 12,387 12,387
s 6,194
& 1,858
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SN ALBTI(AER)
FH: NS AIE2SE
el ZO0PDle 2Z2AMBIA MBS EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
Al 4,33%
012z & a=Hl 12,387 12,387
OAl - loTDlgt 24 A2 MY 2EES 2
=285 ¥ 223 ¢ 12,387
[ 6,194
= 1,858
Al 4,33%
HHA UEREHAL (ML) 4,560 4,560
== 2,280
Al 2,280
301 2= 4,560 4,560
== 2,280
Al 2,280
02 AR 2EH LGS (HAAS, NLWE) 4,560 4,560
OgEAZ2el Hakt YJAA=Hl & Als
| 4,560
= 2,280
Al 2,280
24l elB2tE »=H| NFMS (M) 4,700 4,700
== 2,350
Al 2,350
307 212+01™ 4,700 4,700
[ 2,350
Al 2,350
0122 & 3=l 4,700 4,700
oozl olgs2d +==H| X
940,000 #5214 4,700
= 2,350
Al 2,350
MASELQ AIEROIERID] KM (M) 2,954 2,954
s 1,477
Al 1,477
307 @I2t01 & 2,94 2,94
& 1,477
Al 1,477
0122 & 3=l 2,954 2,954
OMASE ol A& K& 454
S 227
Al 227
ONASE 0l JHet=H] XY 2,500
= 1,250
Al 1,250
A olg2el (Mot (M) 6,000 6,000
[ 3,900
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SN ALBTI(AER)
FH: NS AIE2SE
el ZO0PDle 2Z2AMBIA MBS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,100
307 gl2tol & 6,000 6,000
=S 3,900
Al 2,100
012z € 2/=H] 6,000 6,000
OMIIZE Xt A=2A2E & 2Ll 1,500
& 975
Al 525
OMIILER AYBE U ANUBAE 7
24l 4,500
= 2,925
Al 1,575
XICHOIZLAIS 2 S (M) 1,100 1,100
201 et 3| 1,100 1,100
01 AtR2tc|Hl 1,100 1,100
OBMAAY S2 22X 24|
550,000 x2H 1,100
XIoHetAHIE! 2ERE (M) 233,480 233,480
Jl 186,784
== 23,348
Al 23,348
101 e124d| 51,450 51,450
Jl 41,160
=S 5,145
Al 5,145
04 JIZtN2Z2XNS 2= 51,450 51,450
OEE2AN B 343,000 «3H x50 51,450
Jl 41,160
= 5,145
Al 5,145
201 fer=3| 69,517 69,517
Jl 55,615
= 6,951
Al 6,951
01 AtR2t2|HI 44,517 44,517
OXIlfeta e 28 S 9,751
Il 7,801
= 975
Al 975
O=AD| gtz 260,000 «1CH* 122 3,120
Jl 2,4%
= 312
Al 312




QA ALBTIME)
FH: NS AIE2SE
el ZO0PDle 2Z2AMBIA MBS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEESIEEE]
61,8002 *1CH* 12 742
7l 5%4
< 74
Al 74
Oz 1d 2g4E M= &l 2,400
Jl 1,920
[ 240
Al 240
OXIOftaMIE E2S HIZ
10,0002 x45+500H 20,000
) 16,000
< 2,000
Al 2,000
OXINIAOIE 2EFARS BaL
70,0003 20 #22 2,800
Il 2,240
< 280
Al 280
OXIMHetAME HRF8 S2A4 44|
8,000 2 *694] 1,104
Jl 884
= 110
Al 110
Oasue Bi=lzXJl A&
150,000 x2& * 12 3,600
Il 2,880
= 360
Al 360
OxIfrAHE 292 79
100,000 *10 1,000
Il 800
= 100
Al 100
02 S3=gHl 2,000 0 2,000
OoRER=s S 2,000
Il 1,600
= 200
Al 200
03 A= 23,000 0 23,000
OnRZNHEE 2ArE 16,000
Il 12,800
= 1,600
Al 1,600
OXIOfeteOtE A= EHI 7,000
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SN ALBTI(AER)
FH: NS AIE2SE
el ZO0PDle 2Z2AMBIA MBS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 5,600
=S 700
Al 700
202 04| 3,000 3,000
J| 2,400
= 300
Al 300
01 2K 3,000 3,000
OXIHtHIE HRFE 08| 1,000
Jl 800
= 100
Al 100
ORIt HRFN 2= E 0 2,000
Il 1,600
= 200
Al 200
301 EetE NS 7,013 7,013
Il 5,609
= 702
Al 702
11 #AIAMHIXIZ S 2,353 2,353
Onz e FAL 2ta 28 2,353
) 1,881
= 236
Al 236
14 JIEt 2 a3 4,660 4,660
OXIOHAHY AHESAEL S41H & W SH] 660
Jl 528
= 66
Al 66
OB0IS XIN=5 2DIdAF 28t 452
0K 4,000
Il 3,200
= 400
Al 400
307 gl2to| & 81,500 81,500
Il 65,200
= 8,150
Al 8,150
0192 & 3=Hl 81,500 81,500
OXHE LA X
150,0002x00E %13 13,500
Jl 10,800
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S AABTHANR)
FH: NS AIE2SE
el ZO0PDle 2Z2AMBIA MBS EER=E)
S Y SRA(SH) - KIRAY - A HIDEZ
[ 1,350
Al 1,350
OXIfetkt 2= =S A 68,000
Jl 54,400
& 6,800
Al 6,800
401 AlEHIZ SO 18,000 18,000
Jl 14,400
& 1,800
Al 1,800
01 Al&ZHI 18,000 18,000
OXIfetaits S8 18,000
Il 14,400
== 1,800
Al 1,800
405 AHaHE S 3,000 3,000
Il 2,400
== 300
Al 300
01 Tt ESF=HI 2,000 2,000
OXNTHEE JIXH 5
g s 7Y 2,000
Il 1,600
s 200
Al 200
02 A bl 1,000 1,000
OXEEEA2 A 28 1,000
Il 800
s 100
Al 100
XX 2 2eHIX(MR) 115,200 115,200
= 57,600
Al 57,600
308 XXM SOIA 115,200 115,200
= 57,600
Al 57,600
18 SIS0t oA 115,200 115,200
OXIOiXIZ 228l XA
30,0003 x320& 122 115,200
=S 57,600
Al 57,600
AL ZHLHAHNAAL (M R) 2,866 2,866
DU A AL (M R) 2,806 2,806




ALSX W (AR)
Coda e B0 (K5
DU LEAH AL (M) (S &)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
SHILHAHAAIE FE (M) 2,866 2,866
101 @124H| 2,806 2,806
M ORNZZE2NSE S 2,866 2,866
O4th 28 A= 283
26,050,000& *11% 2,866
2EIH(ALSTUH(AR)) 349,540 267,781 81,759
Il 84,514
=S 25,354
Al 239,672
el 2E| 273,440 211,124 62,316
Jl 84,514
= 25,354
Al 163,572
olE =gl 86,218 86,477 41
101 21A4H| 77,846 76,444 1,402
03 SR (RIH )22+ 77,846 76,444 1,402
ontgZizgtaigd AR 38,803
-Jl=s 2,393,000& ~ 128 28,716
- dASAHI 140,000~ 12& 1,680
e ] 175,000& * 122 2,100
= 140,0002 122 1,680
g2+ 2,393,000 15%*22] 718
- EEFIHI 2,393,000 x60%*22] 2,872
-SSR IN0IMNSSE
(2,393,000& +140,0002+175,000& ) /209+8AI 2+
= 1,037
Oogage|d 2N 39,043
-Jl== 2,393,000~ 128 28,716
- ZUSAH| 140,000« 12& 1,680
e ] 175,000« 12& 2,100
-tE=g 160,000& * 12 1,920
g2+ 2,393,000 * 15%*22] 718
—EEFIHI 2,393,000 x60%*22] 2,872
- ARSRI0IMNSSE
(2,393,000 +140,0002+175, 0002 ) /209+8AI 2+
10 1,037
04 HSRESS 8,372 8,233 139
04 SR (RIH)22N BEE=RES S 8,372 8,233 139
OBRIDZRX 2013 |2 223
75,444, 1102 %4.5% 3,3%
OSRAZZN RUHBEH J|2 L=
75,444,110 3.495% 2,637
OSRAZ2N QYL I 2
= 75,444, 1103 %3.495%*12.27% 324




SN AUBHI(AR)
M. HYESAAH|(HLSTIH(AR))
el QIEE2E (St &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
O2=xzel 129 I Pea
75,444 110&*1.75% 1,321
OBRAZ2Z2 X AT EEE J|1& 2E2
75,444, 110& *0.92% 695
QIESAH|(MEXNEESHASEAIY) 132,630 125,647 6,983
J| 59,860
== 17,958
Al 54,812
101 2124d| 117,360 113,098 4. 262
J| 58,680
& 17,604
Al 41,076
03 22 (2IH) 22 A2 % 117,360 113,098 4. 262
OFRUBAHAIE o1& 0124H| 79,040
2= 2,393,000& 2 x 128 57,432
J| 28,716
& 8,615
Al 20,101
- MFAH| 140,000& 2 x 128 3,360
J| 1,680
& 504
Al 1,176
-XN2LY 175,000& 2 x 128 4,200
J| 2,100
& 630
Al 1,470
-JIEx=E 140,000& 2 x 128 3,360
J| 1,680
& 504
Al 1,176
-d2=Y 2,872
J| 1,436
& 431
Al 1,005
—HE S| 5,744
J| 2,872
& 862
Al 2,010
— 2 AH| 2,072
J| 1,036
& 311
Al 725
OQYAZD A AFY 1| 38,320
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